
Discrete Optimization 2023
Problem set week 1

February 21, 2023

1. Show that the three medians in a triangle with vertices v1, v2, v3 meet at
the point 1

3
(v1 + v2 + v3).

2. Find the hyperplane passing through (1, 1, 1) that is perpendicular to both
hyperplanes {x+ 2y + z = 2} and {x− y − 3z = 8} in R3.

3. Find the closest point to (3, 5, 4) on the hyperplane {2x+ 4y − z = 3} in
R3.

4. Find the distance of the origin O to the line of the intersection of the hy-
perplanes {x+ y + z = 1} and {2x− y + 3z = 1} in R3.
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